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Philosophy

Paper II

BN
U9uteRTt 11

Time Allowed : 120 Minutes]
Note : This paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

0 ARA. WE WA

FEAT : A TIAAehd THU P (100) sgTarE A feeel oTRd. Toeh TRl & (2)
Tredl.

According to communitarians
politics should be consumed with :

(A) Securing the conditions for
individuals to exercise their

powers of autonomous choice

(B) Mainly promoting the social
attachments crucial to our
sense of well-being and respect

(C) Individualistic conception of the
self which has a supreme
interest in shaping, pursuing
and revising his or her life-plans

(D) National
multination states

minorities in

Who among the following thinkers
gives a critique of liberation with
reference to rational choice based on
his emphasis upon involuntarily
picked up social attainments ?
(A) Charles Taylor

(B) Michael Sandel

(C) Alasdair MaclIntyre

(D) Kymlicka

1.

SHTEE TSTRRO § T 5

(A) FITAl =T 3931 Yohe hivdr
T IS Bige 3T9N uffeerd
frafor s

(B) 91T Sfaq ofrfur efey fauior
HLOATHIST ATATTSIer Hae forehfad

HLO

(C) AfFaR! gftes faesfad sl =l

fa o

EEJISH

"Q‘IIG\QI{ i \TI'\IOI"I Al
HLA AsA

(D) TS TCUEEAHR M T

NN A N o . NN
ClfcdletYenl onllidl (A= Rdd ST

TSR] HTHIS Tee=AT STed

Jfgarct gowdl fafehea wd ?
(A) =ITed R
(B) HEhel Hed

(C) 3TATSTR HhTRR

(D) hivciTehT

[P.T.O.



Which of the following feminist
positions present a view of the world
that respects organic processes,
holistic connections and the merits
of intuition and collaboration ?

(A) Socialist feminism
(B) Radical feminism
(C) Ecofeminism

(D) Liberal feminism

Which of the following statements
is most closely associated with
socialist feminism ?

(A) The root cause of women’s
oppression lies primarily in
patriarchal gender relations

(B) The main reason for women’s
subjugation is their financial
dependence upon men

(C) Female subordination is rooted
in a set of customary and legal
constraints that blocks women’s
entrance to and success in public
world

(D) The main reason for women’s
subjugation is their biological

difference from men

According to early Wittgenstein the
truth value of molecular propositions

is determined by :

(A) Their correspondence with facts
(B) Network of objects

(C) Simple propositions

(D) Their syntactical form
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BICAeTueh! IV Siama! Jftent &t o7eh
JfHeRT TR hi <AL Sifereh Ffsha
3G, Tfaeh Haiel, Teer= oree Sfr
TEY FrE Aquid Bl 2

(A) FHSER] Sdg

(B) uRad9arc! Side

(C) SveRER

(D) SER&ER

TATAd®l HIoTd faem qureraEt
S CIHER IS CES |

(A) Torar=n TR qTesqes & JEoIem
fom Haume sed

(B) o™= Tvvme &4 R0 § &
qEERld o sTadfed § TR

(C) IRUR ST AR F&H T
Tes T WESeh SATd JawT
el S A o= 0 & e

(D) Fer=an eNVoma Het@rd R
TSl T qEsTaetT=l Siaemesis
Toran

o N o S o)
qﬁ (A<l A=Al qd SIS Heddl

.............. qrq et 19,
(A) = TR TEe] TR
(B) o e

(C) W faum

(D) = IEREARTST 3ThR




The distinction between positive and
negative facts is mainly concerned

with the philosophy of :
(A) G.E. Moore

(B) Gilbert Ryle

(C) Bertrand Russell
(D) Ludwig Wittgenstein

Ernest Nagel’s ‘Principles of the
theory of Probability’ is closely

related to :

(A) Verification Principle

(B) Unity of Sciences project

(C) Elimination of metaphysics

(D) Theories of truth

What among the following can be

attributed to Quine ?

(A) Physicalism and unity of
Science

(B) Phenomenalism and Elimination
of Metaphysics

(C) Physicalism and elimination of
Metaphysics

(D) Physicalism and Verification

principle
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ThRIHE 30T ThRIcHE qeaee 9

ETEITE@ZIﬁ .................. Wawﬁ.

(A) SIE.

(B) e T

(C) aefe Wa

(D) qefort faeimerA

3T A I e i TS foretd
3R glafafael’’ § qeradent hemei
wftseqy frfea o ?

(A) df=rdiemas ol

(B) foQMM=al TehicHd=l Wehed

O SIHIZIERCEER!

(D) FafIoFeh SqUw
EIeTueh! h1al FaTeTeAT ATl @] Shidl

EE

(A) difqerarg 9 faMmET Tehdn

(B) AMYEAEE o GRS asid

(C) Yifdqerae 9 FTETE a5

(D) difderare 9 yladie™ad dod

[P.T.O.



10.

11.

Which of the following is not true
of Gilbert Ryle ?

(A) Our talk about our mental states
and processes can eliminate any

reference to an inner life
(B) Much of our ordinary thinking
is conducted in internal
monologue and accompanied by
visual imagery
(C) A person’s life is not a double
series of events taking place in
two different worlds
(D) There can be a wholesale
transference of the mental to
the physical
What point of view is central to

Husserl’s phenomenological method ?
(A) First person point of view

(B) Second person point of view
(C) Third person point of view

(D) Absence of point of view

Which of the following does
Kierkegaard’s individual of faith

choose with “fear and trembling” ?
(A) Conventional morality

(B) Aesthetic pleasure

(C) Doctrinal religion

(D) Responsible freedom

10.

11.
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JEIcidehl ool fau™ fieed Tgeren

SEda qd AR ?

(A) AFH sreen 3 gfhan Afawri=
ATIA AU HICATR! AT

SierTea Feyuifyerg 8% Iehd

(B) eeit gshewil fawmufwan &

AR TETAERE o G FiqHr=
HAH Ted A

(C) I S BUS g9 f9=1 <S4

SSUMAT FeATE Gadl HIfelehl FHd

AT T2 R HeATHE

MMSHh U0l B0 HI0 IR 3T

(D)

g AFHEEARTSE GGTel ol
gftch Aeadl e ?

(A) wemges giteen

(B) fadragest gftesm

(C) qeragest gitesh

(D) gftesErn AvE

TEicTdeh! shemet fae feshe= SIgHmes.
el i o eReR h1ad LA ?
(A) wEagy ifada

(B) wicar= g@

(C) Tecatuftaa e+

(D) SETERRIIH @A




12.

13.

14.

15.

Rorty believes that knowledge is
legitimized through :

(A) introspection
(B) intuition

(C) reason

(D) social practice

Merleau-Ponty’s phenomenology of
that our

“unreflective being-in-the-world” is a

perception upholds

source of :

(A) essence

(B) emotion

(C) dogma

(D) meaning

According to James, the tenability

of a thesis is determined through

experiential consequences that are :
(A) narrower than observation
(B) limited to observation

(C) wider than observation

(D) removed from observation

Fundamental rights in the Indian

Constitution are :
(A) negotiable
(B) justiciable
(C) justifiable
(D) violable

12.

13.

14.

15.
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e o

U= U ER AT SR
FIMHhd T BId 2

(A) TEHIEHA

(B) W

(C) &

(D) wrHIfSTes =Telid]

el -di=re Jeaefasds qHaee-

IIESTTHR ST AT STt foramferfad
R & e ITHE AR ?

(A) HRAc
(B) wre
(C) acd
(D) 319

SET=A HATaR Ui fehrqon &
sawfaes gftomar=an smemr ffv=a
gl S

(A) fFriemmian gfaa s
(B) Frégomged Faifeq swa
(C) Tieromyen =a9es &

(D) fraemmg afsm s STam

ARAT ToTEedial Jayd Bk © ¢

(A) TETEE HIOISIAT 271Rd
(B) a1fqemd efed
(C) TmIg 2TmRd

(D) IocTeHET 3R

[P.T.O.



16.

17.

18.

Constitutionalism resolves conflict

in a plural society through :

(A)

formal constitutional processes

(B) substantive constitutional
principles

(C) substantive conventional
principles

(D) substantive individual principles

Indian secularism :

(A) did not ‘erect a strict wall of
separation between religion and

state’

(B) did not ‘erect a strict wall of
separation between religion and

society’

(C) did not ‘erect a strict wall of
separation between religion and

education’

(D) did not ‘erect a strict wall of

separation between religion and

o

law

Constitutionalism is not committed
to :

(A) a common institutional life
(B) any particular tradition
(C) a plural way of life

(D) a cosmopolitan law

16.

17.

18.
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SRfALATYUl AN TSeeTeTs Fersi
Ikl HYMAT HIHAGT hidl ?

(A) TTeEATHE STT=Teh dad

(B) wWid ®eAHS dod

(C) vwia wfeagy da
(D) Wid Jafedes dcd
TR gHfRueeReH

(A) o" 9 5T =g faverda=n fadt

IURHT T

(B) @™ 9 gHS areama faveraean fadr

IURET T

(C) yw 9 f3reror areaa favera=a it

IURHT

(D) ¥ o FHTIeT A faseaaean fady

AR

TSTESATEE B HEMEN hicagy A& ?

(A) TSR HETeHe ST
(B) waeiiel faferse wwq
(C) Sftaar dfaezqul #rf
(D) favaeEEaT=t R




19.

20.

21.

22.

Which of the following does not

define resistance to colonialism ?

(A) constructing indigenous

identity
(B) constructing global identity
(C) constructing economic identity
(D) constructing social identity

In India, personal law has the ........

as its focus.
(A) individual
(B) culture
(C) family
(D) state

Which of the following is incorrect

with reference to the law of identity ?

(A) Everything is identical with
itself

(B) Everything is what it is
(C) PoP
(D) Everything is unequal to itself

If the truth value of ‘A’ proposition
is true, the truth values of ‘E’ ‘T’ ‘O’

propositions are ........... respectively.
(A) F, T, F
B) T, T, F
(C) F, F, F
D T, F, T

19.

20.

21.

22.

MAR - 12223/I1—D

qEIcTuch] SheMel SHIEAATGTeA o=

Hehoqd FHERT Bid ARl ?
(A) iR qeersl FTel
(B) dfYeen dedd= HL= I
(C) oM aRaa=! T

(D) HHISeR dedast Tl

TRATHEY dafedes HEEmET SR HIMER
e ?

(A) =il

(B) weell

(C) =g

D) TH

TRTeT= fEmERYid qéaden! v
faum o\ ey ?

(A) T T TR dRed 319
(B) &% Tt o 3T STl eTd
(C) PoP

(D) Yk T T T SAFHH 3THd
A fgAr Sed-ed ‘EJ ' (T) 318a
TR, T S O faum Ter-Te

SR I,
A) F, T, F
B) T, T, F
(C) F, F, F
D T, F, T

[P.T.O.



23.

24.

25.

Identify the fallacy committed in the

following argument is .................
“All men are mortal.

All animals are mortal.

. “All animals are men.”

(A) Fallacy of undistributed middle
(B) Fallacy of undistributed major
(C) Fallacy of undistributed minor
(D) Fallacy of illicit major
Correct symbolization of the

following statement is :

Statement : Only students are

members. (Sx, Mx)
(A) X)(Sx.Mx)

(B) (X) (Sx > Mx)

(C) X)(Mx > Sx)

(D) (3x (Sx .Mx)

“~|:(p3q)5(~q3~p):|” is
............. statement form.

a tautology

a contradiction

a contingent

an inconsistent

23.

24.

25.
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gt JfRARId STeTel dehars e

“gd AR A et

Td it 7 aTRa.

R E A L e R s A

(A) FTA@ WG W

(B) =A< WIEATRE S

(C) =< IRl S

(D) 9" WEARMET I

e faure e fawied oR

faam— w1 foendi= v ewdia.
(Sx, Mx)

(A) (X)(Sx.Mx)

(B) (X)(Sx > Mx)

(C) X)(Mx > Sx)

D) (3x (Sx . Mx)
“~[(p>4q)=(~g¢>~p)]” &
faumey o -

(A) Fad: &

(B) Wed: 39

(C) Afafardar T

(D) T




26.

27.

A set of axioms is ........... if no member
of the set can be proved as a
theorem on the basis of some or all
of the other members of the set.

(A) Independent
(B) Complete
(C) Consistent
(D) Incomplete

Two premises and four conclusions
are given below. Examine premises
and conclusions and choose the
correct code.

Premises :

(1) Some truck are scooters.
(2) No scooter is cycle.
Conclusions :

@)

(iz) No scooter is truck.

No truck is cycle.

(zii) Some trucks are cycles.
(fv) Some scooters are trucks.
Codes :

(A) Only (i) and (iz) follow

(B) Only (i) and (iii) follow

(C) Only (iv) follows

(D) Only (@), (i) and (iii) follow

26.

27.
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SR YR HeEdle HIUAE] U6 Jelar
(TS I gl fohe Tl Heemi=
(qe&r=1) STER Y8 WA 19

T JATHRAT Sl
TETArd.
(A) T

(B) wqul
(C) ga'
(D) 3Tquf
et gF YR faum snfor =R fsed
oot o1, St oMeR faem swfr = wEr

FTseRt] T 3717 feeied Sehdrehiqd ard

LRICAECER
ey faam
(1) el T THeT e
(2) THE THe HFHKA TG
e
(i) Uhel Th FIHRA A6l
(if) THE THA TH TR
(iii) &l Th HEHRd 3.
(iv) e THeX TH .
i
(A) W (7)) mfo (i) o= 2
(B) e (i) 301 (j47) T7oa=1 e
(C) ®H (jv) 9= B
(D) & (), (i7) T (i37) F7oa=1 grama

28. Which one of the following is a | 28. JEICTIhT IVl fTEae Teld: T 3T ?
tautology ? (A) po~p
(A) p=>=p B) (po~p)-(~p>p
B) (po>~p)-(~p>p)
(C) p3(~p3p) (C) pD(~pr)
M) (popop D) (pop>op
11 [P.T.O.



29.

30.

Consider the following argument
and choose the correct code :

The following argument is :

No quadrupeds are elephants.
Some men are quadrupeds.

. “Some men are not elephants.
Codes :

(A) Inductive, good

(B) Inductive, bad

(C) Deductive, valid

(D) Deductive, invalid

Match List I with List IT in the
context of the rule of inference and
mark the correct code :

List 1
(z) Exportation
(i1) Transposition
(z11) Tautology

(fv) Commutation

List II
(@ p-p
® [(p-a)>r]=[p,(g>71)]
© (p>q)=(~g>~Dp)
d (p-q)=(q-p)
Codes :

@)

(A) (a)
B) @)
) ®)
D) @)

(it)
(b)
(b)
(c)
(@)

(iii)
(c)
(@)
(@)
®)

(@)
(d)
(c)
d)
(c)

29.

30.
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i JfRaE TUT ST Fehalehlqd ard
LRI ECE

afeR, 3t

(B) iR F-3fed
(C) amHfeH, I
(D) I 319y

STIAETe e Hevid §= 1 9
T 11 =1 S Sea i A Hehdich
feren .

et 1
(i) g
(i) = AfR®
(iii) kil
(v) HHIRECT
et 11
(@ p-p

®) [(p-q)or]|=[p,(g>T)]
© (p>q)
@ (p-q)
'Fl@'d‘l? :
@)
(A) (@)
B)

(C) ®)
(D) (@)

=(~¢>-p)
=(q-p)

(i7)
(b)
(b)
(c)
(@)

(T17)
(c)
(@)
(@)
®)

(tv)
(d)
(c)
(d)
(c)

12



31.

32.

If the subject term of a general
proposition refers to an empty set,

then the following opposition does
not hold.

(A)
(B)

Only contrary and sub-contrary

Only contradictory and sub-

contrary

Only

subalteration

(®); contradictory and

(D)

Only contrary, sub-contrary

and subalteration

If Philosophy involves the use of
specifically philosophical methods to

31.

32.
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g fagmH 3eemg SR e v Fefm
Fa 38 R faum foiemdie gererieht
FHIv folly ¥ 3@ ARG ?

(A) HE o snfor Sufariy
(B) Had =AM ST SufaRiy
(C) e AT ST IUTFEA

(D) e fatiy, Sufediy emfor 3IuTf3ra

qORATAT GHEA Tailehe STEA ST

Aol Tgdi=al STER 3a8 9T

explore issues outside the set of WY B YA, I e o
philosophical problems, then it is wee WM.
called .................. o .
(A) FCIEIRTEHHTET
(A) Metaphysics )
B) ST
(B) Epistemology (B)
(C) Applied Philosophy € T
(D) Ethics (D) ifaemes
33. Which of the following is obligatory | 33. ¥UMeR IUER HUTAT TGL Sl
for medical practitioner while EeleTdeh! 1 IYThRE e 2
. . o
treating the patient ? A) 74 F 5
(A) Asking name
. . (B) 3= fo=md
(B) Asking the income
(C) Informed consent (C) e 13' LR
(D) Asking the location (D) ®IM fo=mra
13 [P.T.O.



34. The study of how ethical theories are

35.

36.

37.

put into practice refers to ..............
(A) applied ethics

(B) normative ethics

(C) descriptive ethics

(D) meta-ethics

What is the prime focus of bioethics ?

(A) Impact of research on humans

and humanity
(B) Impact of politics on humanity
(C) Impact of ethics on sociology
(D) Impact of

epistemology

biology on

Hippocratic oath is related to which

profession ?

(A) Medical

(B) Governmental

(C) Political

(D) Social

According to which philosopher

technology is not merely
instrumental but also a way of

uncovering the truth ?
(A) Descartes

(B) Heidegger

(C) Kant

(D) Thales

34.

35.

36.

37.
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AITAeTEAT=AT IU9cd] STABRIA YTl
CIINIEZEZIR quqg_ﬁcﬁm S T
38 TR,

(A) Suifea Ao

(B) frames idemes

(C) FvuiTcHe deme

(D) SAfg—reieme

ST U@ AE I &M
A ?

(A) HINEAR HEGER ST Aader
B gfomm

(B) TSRO HHEdER B0 9ROmH
(C) TTIvT==T THTSSITEER BI0TR]

qRomy

(D) OS] JETHHEET 0

NN

EIEDEED

qE ?

(A) TH
(B) YMHh™
(C) TS
(D) WIS

IV Tl Hd G5 § 9o 3HS

AN~

9 KU FSHRET ffed

FHOIET Teh AN SR ?
(A) ST
(B) BFETR
(C) Wl

(D) oedtE

14



38.

39.

40.

Common  problem  between
Philosophy and Artificial
Intelligence is ..............

(A) Logic and Consciousness

(B) Experiments and observation
(C) Arm chair thinking

(D) Arguments

Self advertising by doctor is ..........
(A) Unethical

(B) Legal

(C) Political

(D) Ethical

What is strong artificial

intelligence ?

(A) Making computer faster

(B) Making computer more

interactive
(C) Developing a machine that will

have all mental powers that

man have

(D) Making man as a machine

38.

39.

40.
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FH FhgHa@ T dao™ ar=aHed

(A) THIMS A0 =a=
(B) wam anfor fAdem

o~ *

(C) ™ Hida |

(D) Hfrrene

iRy A = Sfedd ol ®
TS,

(A) Ffaeh

(B) ®MERIR

(C) TSThia

(D) Hfcen

FHH FfgH BUS wE ?

a-

(A) TUes AfYes Tfaeiel S0

(B) HUTeh TER HAR] SH90]

(C) 3T I i S AFGAT ATA

Td dfghema S

(D) HOTETA I3 S=a0

15

[P.T.O.



41.

42.

Consider the following stages of
Samadhi according to Yoga and
choose the incorrectly matched one :
(A) Savitarka—Citta is concentrated
on a gross object
(B) Savichara—Citta is concentrated
on a subtle object
(C) Sananda—Citta is concentrated
on a more gross object
(D) Sasmita—Citta is concentrated
on the ego-substance
Match List I with List II in the
context of theories of error and mark
the correct code :

List I
(i) Manomaya Kosa
(i) Annamaya Kosa
(i11) Pranamaya Kosa
(fv) Vijnanamaya Kosa

List II
(@) the vital functions of life
(b) fine constituents of the gross

body

(¢) the will and desires of man
(d) the thoughts and ideas of man

Codes :

@ @ @) ()
A (@ b)) © @
B) @ © G (@
C) © Bb) (@ @@
D) ®) (@ @ ()

41.

42.
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e

(A) wfgas —faca=n sya fas@mER
T

(B) Gfoar—facar=t gam fasEmEr
T

(C) wrg— ot stferek Tea fammmer
Teh Ul

(D) wrfeqa-facar=l TEFR T
T

EATfqaTeTea HeHid I e Seedl :

el 1
() THI &
(i) AT HY

(iif) TTOTHA ST
(iv) foarm=a =

e 10
(@) SHEAIE Sa=ma wE
(b) A TET HEFH T
() AISATN Hehed d Al

(d) "= =R 9 shed

Hehdieh :

@ @) @) ()
A) @ b)) (© @
B) @ @© ®) (a)
© © b (@ (@
D) &) (@ ) (o)
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43.

44.

45.

Which one of the Vedantic schools
advocates that view that “The
Individual is real and the Self is
related to Brahman as body is
related to the soul” ?

(A) Advaita Vedanta

(B) Vishishtadvaita Vedanta
(C) Dvaita Vedanta

(D) Dvaitadvaita Vedanta
‘Pratyaksam
jnanam’ js upheld by :
(A) Candrakirti

(B) Aryadeva

(C) Dignaga

(D) Gouthama

kalpanapodham

Consider the following statements
with reference to Jainism and select
the correct code from below :

@)

The size of the Atman matches
the size of the body

(it) The kas'aya are the elements
of passion that sticks to the soul
and binds it from attaining
liberation

(zii) The Atman perishes with the
death of the body

Codes :

(A) Only (@) is true

(B) Only (i) and (ii) are true
(C) Only (i17) is true

(D) Only (i) and (iii) are true

43.

44.

45.
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"Rl Tq STTE STV SATYHT e

QERN Feg AFql, TEYHR  SAH
TREART Fag d."" § 7 Jeradehl

I IS FYSHA WhRal T8 ?
(A) @1gd o

(B) fafereigd e

(C) §d o5

(D) SaT5d o

‘gcge]  weuardie IR’ § Hd

(A) TSl

(B) Tied

(C) feeam

(D) |

S e Hewld e faum qur

S0 ST Wihdish aST ¢

(i) STcAT YR SEdge 3T9d

(i) 9TE4" HOMH T EH FAYT d
eTen Taeshedra smfor Miem gt
ELERI|

({ii) TEFIRISEE 3T 9% Bidl

'Fl@'d’l? :

(A) &K () 9 T A8

(B) W (§) 3T (i) 9 9T 3TMed
(C) W (i) 9 9 3
(D) ®e (i) MU (i) 9T A_A

17

[P.T.O.



46. With

47.

regard to theories of
origination of the world, examine the
following position : “Two atoms
combine to form a binary molecule

(dvayanuka). Two or more
dvayanukas form themselves into
trayanuka, catrayanuka etc’ Which
one of the following schools

subscribes to this view ?
(A) Carvaka

(B) Prabhakara Mimamsa
(C) Yogacara Buddhism
(D) Vaisesika

Match List I with List IT in the
context of theories of error and mark
the correct code :

List I
(i) Anyathakhyati
(i) Satkhyati
(it1) Akhyati
(v) Atmakhyati

List II
(@) Vishishtadvaita
(b) Nyaya
(¢) Vijnanavada Buddhists
(d) Yoga
Codes :

@

(A) (@)
(B) @)
(C) (©
D) b)

(i)
(®)
(c)
(a)
(@)

(zi1)
(c)
b)
b)
(d)

(@)
(d)
(@)
d)

(c)

46.

47.
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ST St WfqaTe shioT=a1 Suui=a
T geiar firent quren T qéerien]
HIVT YN T G WA o 9 :
“M AIRA TH FUH AR B S
TR d9R B,

(A) =mdieh

(B) 9 HHTHSR

(C) IFT=R sig dwoH

(D) Teiforem

EATfqaer= weutd §= 1 emfor gt 11
A=A SISl Sl S0 g Hehdleh

et 1
() STAYRANd
(i) HeeArta
(iii) ST
(fv) SAHEAA

T 10
(@) fafsmerga
(b) ==
(¢) ToumerR dig d@eH
(d) =
Tehdiah :

@ @)

(A) (@) b)
(B) @ (c)
C) ) (a)
D) ) (a)

(ti1)
(c)
(b)
(b)
)

(iv)
(d)
(@)
(d)

(c)
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48. Which one of the following is the 48. weeE Fv faadare™ @
correct explanation of vivartavada ?
(A) Effect is the real transformation TR G 2
of cause (A) S T HROTE oEde omH 3T
(B) Effect is the false representation
of cause (B) T & RO ohid WM 38
(C) Effect is the modification of
cause (C) & § SRV 9Redd 318
(D) Effect is accidental property of D) FE T FR TefeR Ae AT
cause
49. Nyaya considers God to be : 49. =T YR 3 HAT.
(A) Material cause (A) HHETHRRT
(B) Instrumental cause (B) WEHRIRRY
(C) Efficient cause (C) fHfawreRTo
(D) None of the above (D) STt Tl TRl
50. Which one of the following is not an | 50. TIeileliehl awd Wehdiqd Sehid e
evolute of Prakrti ? e ?
(A) Mahat (A) Hed
(B) Ahmkara (B) TEHR
(C) Tanmatra (C) T
(D) Purusa D) Te™
51. Which of the following statements | 571. i(,;']mqq.,'] g faum  f e =
expresses Anaximanenes’s view ? o s T 2
(A) Quality can explain the
quantity (A) U1 GREATOTE TR0 & STehdld
(B) qullaall;;lty can explain the ®) WW A S —
(C) Quantity and qualities are (C) ufHror arfor 0T S AT
unknown 0 ’
(D) Quantity counts and quality (D) RGHTOTT=HT TTOr1 2t SAIfor ot Ferarmn
controls Hdd
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52. Which among the following
statements is true about
Pythagoras ?

53.

(A) He believes in rebirths

(B) He does not believe in rebirths
(C) He is a nihilist

(D) He is an atheist

Match List I with List II and select

the correct answer from the codes

given below :

List I
(@) Heraclitus
(b) Democritus
(c) Pythagoras

(d) Anaximenes

List II
(@) Flux
(i) Atoms
(iit) Numbers
(lv) Air
Codes :

(@ B) () ()
A) Gv) @ @) @)
B) @) Gv) @ @)
C) @) @) Guv) @)
D) @ @ @) Gv)

MAR - 12223/11—D

52. LM HeHid erctieh! o faem

53.

T 3 ?

(A) T GASH A
(B) @ AN TG ATE
(C) q Il TR
(D) @ FRisereR o’

T T o7for = 11 3= S Sjesdl
3T foetean Fehdrehigd ard g feret

et 1
(@) TelfrTey
(b) SHIMhET
(¢) TEATIRYE
(d) Rt
e 10

G) S
@) 31
(iii) HE
(fv) 91g
Hehdiah :
(@) (®)
A) @) @)
(B) Gii) Gv)
(C) @) @)
D @& @

() (d)
@) (@)
@ (@)
(v) @
@ii) ()
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54.

55.

56.

Aristotle, maintains that theoretical

sciences study :

(A) What cannot be otherwise and

includes ethics and politics

(B) What can be otherwise and
includes physics, mathematics

and metaphysics

(C) What can be otherwise and

includes ethics and politics

(D) What can be otherwise and
includes physics, mathematics

and metaphysics
Augustine upheld :
(A) faith as the starting point
towards wisdom
(B) doubt as the starting point

towards wisdom

(C) experience as the starting point

towards wisdom

(D) sorrow as the starting point

towards wisdom

What are two sources of our ideas

according to John Locke ?
(A) Sensation and experience
(B) Sensation and word

(C) Sensation and reflection

(D) Sensation and imagination

MAR - 12223/I1—D

54. 3ffEiee=a Ad Igifas fasm T

55.

56.

STV

(A) S TR ST TSIRmeTd Tal
HHIfese BId et

(B) & WXl ugrelfamm, Wi sty
TR HHHd I A

(C) S et ifaemes o TSR
rasdd st

(D) S W& uereifagm, wira st
OIS HHEd stiadd e

TR T

(A) 951 & SR SRufag e
(B) ¥T1 T SIRIVIUTET STRYfEg 318
(C) STI9a § TRVl ARAfG 3T

(D) T:®@ & IROIUTE IRAfEg 3T

S A=A T SIS HedArd SF 9
FIT ?

(A) Fo ST g

(B) Hog afor 31

(C) o sfor fad

(D) HIAGAT MO HeqTfaEr
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57.

58.

59.

Qualities like motion and rest

qualities according to John

(A) Accidental

(B) Physical

(C) Mechanical

(D) Primary

Who is the author of Treatise on
Human Nature ?

(A) David Hume

(B) Bishop Berkeley

(C) John Locke

(D) Rene Descartes

Which of the following is correct

according to Spinoza ?

(1) An attribute is an accidental

quality

(11)) Mode is an essential quality

(zii) Substance is dependent on
qualities

(fv) An attribute is very essence of
substance

(A) Only @)

(B) (iii) and (iv)

(C) (@) and (iv)

(D) Only (v)

57.

58.

59.

MAR - 12223/11—D
T Sfor feerelt € TOTEH S @feRe WA
(A) =g
(B) «fifaer

(C) =f>er

D) watHs

FIeTES 3 AT T=R T TA Tk
I 3R ?

(A) SHe ga

(B) fomma ahal

(C) SF ek

(D) H 2HE

TS Td Wefteryeh! & siey

e ?

() T T T AL ST
(i) 9AE B WEY d0 R
(i1i) Fo4 TOUTER ST STEd
(iv) 7O ST HRawe 3TEd
(A) ®H (i)

(B) (i) =0T (v)

(C) @) = ()

(D) % (iv)
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60. According to Spinoza intellectual

61.

62.

love of God is

(A) Love of God for himself
(B) Love of God for men
(C) Love of men for God
(D) Both (A) and (B)

Yajna, as sacrifice, is maintained by

those who interpret Bhagavad gita .
(A) Theistically

(B) Mystically

(C) Humanistically

(D) Pantheistically

Consider the following and choose

the correct answer :

Gandhi advocates Sarvodaya, which
implies :

(1) the greatest good of the greatest
number

(z1) the greatest good of all
Codes :

(A) Both (i) and (i7) are true

(B) Both (i) and (ii) are false

(C) @) is true, but (i7) is false

(D) ) is false, but (i7) is true

MAR - 12223/I1—D

60. TAMHAT=AT Ad TYAE Sifgw 9™

61.

62.

(A) TSI I=AEA 9H

(B) 3¥oR AT UH

(C) A=A SyaUedia 9H
(D) <=l (A) anfor (B)

"I US  ST STET e ShivTe]
oA WA WA ?

(A) TR
(B) @Al

(C) WHedER!
(D) HaTeRea!

TR faem qUTE ST Hehdiehed ard
ERICIRECEIN

'\’r\l ~ o

TS Haied fque el s a7
e

() oIfamm sAfus @

(i) gFatd qaites g@

W :

(A) () =07 (i) S qA 3T

(B) (i) 3Tfur (i) Sraiel 3TH Aed
(C) () I A 9 (ji) 3H A 3R
(D) () TFH 3T 9 (i) TF 3T
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63.

64.

65.

66.

By religion, Phule intended :
(A) World-religion

(B) Organised religion

(C) Institutional religion

(D) Devotion-based religion

Levinas believes that the other is

presented to the self as a :

(A) thought

(B) sensation

(C) face

(D) sound

In the Gita, Yoga-ksema is
assured by :

(A) Arjuna

(B) Yogi

(C) Sanjay

(D) The Lord

If Asrava is controlled by rites and
rituals, it is called :

(A) Bhavasamvara

(B) Dravyasamvara

(C) Samvara

(D) Asrava

63.

64.

65.

66.
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ol I ST U 96 WU
(A) Sfaes e
(B) wefed o
(C) e o
(D) wiedfafted &+

AfeArE=n gFoEr ‘) g | o

Fod T TR hed A ?

(A) fa=m

(B) T

(C) =eu

(D) &t

T FRTEETR @l wiol foelt o ?

(A) 3T
(B)
(C) &=
(D) Wed

~

SR e gafaeir s sel, X e

(A) WEHeR
(B) SegaR
(C) 9=

(D) 39
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67. The state of Jiva, if devoid of

attachment and aversion is called in

67.

MAR - 12223/I1—D

ST ST TS THdel dX SHeYiHd o

®E TWoEE 7

Jainism : .
(A) 99X
(A) Bhavasamvara .
(B) saHX
(B) Dravyasamvara .
(C) 9N
(C) Samvara
_ (D) A=A
(D) Asrava
68. ‘Samyak Caritra’ does not include : 68. ToF TG FIME FHERT T 2
(A) Vrata (A) od
(B) Samiti (B) @t
(C) Jagruti (C) S
(D) Gupti (D) Tt
69. Which of the following is not true ? | 69. Welicaiysh! HIvl (TIT) THF ATE ?
(A) Yamas constitute negative rules (A) = T FiveTeTss R T
of behaviour
(B) T s ehricHeh I STHar
(B) Niyamas constitute positive
rules of behaviour (C) 7" & =M %™ e 9 && 74,
(C) Yamas and Niyamas prescribe I SARYT <drd
do’s and don’ts - o .
D) I8 9 999 H1EE A ad
(D) Yamas and Niyamas are to be . L .
JRAIAINIT sneensldHYl HlooldHld
followed strictly by hook or crook
right from the beginning
25 [P.T.O.



70.

71.

72.

According to the Gita, Yoga-ksema
is possible provided :

(A) Duties are discharged

(B)

Duties are discharged with

devotion

(C) Duties are discharged knowing

the reality

(D) Duties are discharged with

knowledge and devotion

Which of the following is true ?

(A) Lokasamgraha gets promoted
through work

(B) Lokasamgraha should be the
goal of human activity

(C) Lokasamgraha should be the
motive of human activity

(D) Lokasamgraha cannot be the

motive of human activity
Carvaka hedonism is based on :
(A) Carvaka epistemology
(B) Carvaka axiology
(C) Carvaka ethics

(D) Carvaka ontology

70.

71.

72.
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Tidea AAJER Ame’ e gl S

(A) HIFITAT Hed T

(B) FasAqTed iFadE™ el @

(C) HdAIET ‘ara’ SUH Hhel &

(D) ®dsAYAT ‘FrEqd’ U T

ke o ™

EcATIdeh! Il (Y31F) T 3T ?

(A) TREIR HET EA S

(B) @hEUE T HMET S 3fE 3Td

(C) ThEUE ¥ AMEl FHdrd AT
3

(D) TREYR B A Shedr=t Yo
IeRd TR

STaieRTE @A HheMaT TEMRA A ?
(A) =aEieRTe ATHARE
(B) <aiehi=l HeaeH

(C) =matehr=t ffaeteran

(D) =Matehi= SEHTHET
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73.

74.

75.

Sthitaprajna, in not transgressing
limits, is said to be like the :

(A) Sun

(B) Moon

(C) Ocean

(D) Mountain

The concept of Yajna-Cakra i.e. the

relationship between Yajna,

rainfall and agricultural produce is

brought out in the :
(A) Brahma-sutras
(B) Bhagavad-gita
(C) Astavakra-gita
(D) Avadhoot-gita

Who among the following introduced
the method of calculating the value

of pleasure and pain ?
(A) J. S. Mill
(B) Bentham
(C) Sidgwick

(D) Kant

73.

74.

75.
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Teorqus sTUcn HAfe™ Sodod &hid

THCAT ATE! AT ShIORH el 378 2
(A) ¥

(B) =%

(C) ¥
(D) 9da

I Hhoydl WUS I, TS 9

AN Y

[AIScIed AT Ad IS T hadl
e ?

(A) SRR

(B) frereritan

(C) STeeTashIildm

(D) STEYral
TCAcUsh! IV @ ST 3@ A=

AT Ugdl e ?
(A) <. T 5

(B) =i

(C) foseiteh

(D) e
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76.

77.

78.

‘Ethical propositions refer to
objective facts independent of
human opinion’ is the standpoint of
which one of the following ethical

theories ?

(A) Moral Subjectivism

(B) Moral Realism

(C) Universal Prescriptivism
(D) Emotivism

Which one of the following theories
is criticized for prescribing the same
kind of punishment to the offender,
which is committed by the offender

that is considered to be wrong ?
(A) Deterrent theory

(B) Retributive theory

(C) Preventive theory

(D) Reformative theory

The qualitative differences in

pleasure are considered by :
(A) Hume

(B) Mill

(C) Bentham

(D) Kant

76.

77.

78.

MAR - 12223/11—D

“Afaw faum wEEHaTen A g
eIt ded wiTara’ oTeft fHEeRt

o N [a} N [aW e [al [a N aY
CllletYen] hlV[cd] AlIARIIATd YUl
AR ?

(A) Afaer AfFqEmierdene

o

(B) f

°h diaddiq

(@)
(D) Yafehare

T Sholed] T-anl IRearE fre

afYas R

Svgren gfadasa feret=an wiore

ST’ Skl B0 ?
(A) fraruER Suact
(B) gfaeny Uit

(C) SETeTcHeh: 3UI

(D) GUROUMcHE 39!

HEdre TOlcHsh 98 <ol o= Biel ?
(A) =M
(B) fae
(C) siem

(D) H1e
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79.

80.

81.

“Obligations are compatible with the

greatest Happiness Principle” is

believed by :
(A) Bentham
(B) Mill
(C) Kant
(D) Ross

For which theory of ethics ethical
claims such as ‘Happiness is good’,
‘Generosity is a good character trait’

are objectively true ?
(A) Ethical realism

(B) Ethical universalism
(C) Hedonism

(D) Altruism
Which of the following theories of

ethics would argue that our actions
should not only aim at the relief of
suffering or avoidance of harm but
it should also aim to provide positive
benefit to others for their own
sake ?

(A) Mill’s utilitarianism

(B) Bentham’s utilitarianism

(C) Altruism

(D) Epicurean Hedonism

79.

80.

81.
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AR H HewH FEaweei FEd STHard
3 HIVT T ?

(A) som

(B) fa=

(C) @i

(D) E

¢

' =ima ewd’, ‘efiwrd R
Feaferafimed g’ AaRe Afds I

= D~ a fa fa
nUcdl Alden SHUTIA Aokl '@Q

A A 2

(A) Sfder areearE

(B) Afaer Href>erdrmere

(C) gudar

(D) TIHRER/HEE Gedg

AT Fdl holes @A e
A fhar fea Tevaeasn #aifed

SfEsem IR TEeaTd, T 30 ThRIcS

Y el Hesed wuE  yfdures

HLOM IS SUURT hivdl 2

(A) o= UG

(B) SerH= IUFIATAR
(C) TR

(D) TrerRgda e
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82.

83.

84.

85.

Psychological Hedonism commits the
fallacy of :

(A) Hysteron Proteron

(B) Division

(C) Composition

(D) Ignoratio elenchi

Which of the following is not Kant’s
Maxim ?

(A)
(B)

Act as a member of the Kingdom

Act on that maxim which thou
wills to be a universal law

(&)

Never use anyone as an
instrument but as end-in-
himself

Never act on that maxim which

D)
clashes with other maxims

Kant’s ethics is criticized on the
grounds of being :

(A)
(B)
()
(D)

For
oneself means :

(A)

formal and stringent
poetic and metaphorical
recondite

unintelligible

Jiddu Krishnamurti knowing

Knowing self in isolation from
relations

(B)

In withdrawing senses from the
world

(&)
(D)

Discovering oneself in relation

Motivating oneself to get
liberation

82.

83.

84.

85.
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ATHITE T GEEMEId hivl qhal
e ?

(A) feetm wietA

(B) @A

(C) T

(D) SRR ger=

TTeATeTdehl hIUd hicd Hifddw el 2
(A) TR HEH AT AN HRERA @
(B) S fifqawa @dfe | =@ o8

ed e, AMER HRRA @l

(C) hefTEl HUMEl Hekiten TIEF wUH
IR HE

(D) I ifaawa SR dxaifoliEl 3/,
AR & H& T4

FHIUTHT STTRIYTAT ATEM HTZ=AT
Tifaemser fesrr el S ?

(A) 3R o qHFHIR

(B) &1AcH 9 ®Uh[cHh
(C) T&A
(D) SR

STiqg, FOUMI=A A Eod el Sese)

(A) Areare far e

(B) SR 3fsd Fog foem s
(C) e e
(D) el gire Iid o
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86.

87.

88.

The statement “In love there is no
attachment; if there is attachment,
there is no love’ can be attributed

to which of the following thinkers ?
(A) Jiddu Krishnamurti

(B) Vivekananda

(C) Radhakrishnan

(D) Sri Aurobindo

Which of the following thinkers

believes that God is immanent,
transcendent, constantly creative

and dynamic ?

(A) Sri Aurobindo
(B) Mohammad Igbal
(C) Tagore

(D) Radhakrishnan

Which of the following modern
Indian thinkers identifies the notion

of absolute with Citta-Sakti ?
(A) Swami Vivekananda

(B) K.C. Bhattacharya

(C) Sri Aurobindo

(D) Radhakrishnan

86.

87.

88.
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Y OTeY e 9, SR SATEERT 3T

W YH THa"" 7 faum wrefierieht someh
qargd ey ?

(A) Sfieg, Feord

(B) foroepria

(C) TEFSIH

(D) #ft srfs

TR B ATTATH, 3TITd, et gerep Srfor
TfTAM 3T 378 WieldIUeh! ShIvrdT foramad
qear ?

(A) = srfec)

(B) HIgHE Sehdldd

(C) MR
(D) TR

TCHTUehl ShIvld e faared g shaa

e fa-vedisl Teeq JFad 2

o

(A) @l faaehTe

B) B, v
(C) = srfe)

(D) THTHEIH
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89.

90.

Universal Religion according to

Vivekananda is :

(A) A doctrine to be followed by all

of mankind

(B) A set of practices to be followed

by all religions

(C) Denial of diversity of
approaches to understand the

one truth
(D) Realization that different
religions present different

perspectives on the same truth
Which of the following is not true ?

(A) Nyaya system accepts four
Pramanas but Yoga accepts

three
(B) Nyaya system accepts four
Pramanas but Samkhya two
(C) Nyaya system accepts four
Pramanas but Vaisesikas two
(D) Advaita Vedanta accepts six

Pramanas but Carvakas only

one
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89. fodamgr=a #d dfyas ¥d wWUN

90.

(A) Td HFEH STTERvAEESEn fagrd

(B) W& YHAT ATHI0AE STERH G

(C) T TSIl Yftehi=an afaesm=n

h

(D) fafay «d wew T fafauysr

o (a

T Al g

TTeAeieh! IV TE qA A& ?

(A) IR =R FHI TEiehRd, 7 A
iG]

(B) =eR =R YHM FWehRd, 01
Hed g

(C) PR =R FHIY T&(ehrd, o
ENIEE G|

(D) Tgd IEd Tel FH TehrRdl, o7
Taish Th
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91. Match the pairs : 91. Sireal ool :
Group I RGN |
(@) Phule (@) qgﬁ
(b) M.N. Roy (b) HHISTY I
(¢) D.D. Upadhyay ) TEaE ST
(d) Tagore d) =R
Group 1II T 1
(z) Integral humanism @) T wEER
istic hu i
(iv) Radical humanism @) s
Codes : (fv) A AR
@ ® © @ Wﬁ) o e @
@ ) W G o ) @)
(B) (@) ) @) () ®B) i) @) G G
©) @) @ @) Gv) © Gi) @ @) ()
D) @) @) (@v) D) D) @ @ (v GG
92. According to Gandhiji Non-Violence | 92. mefsien qd foR-3TmEE wuS
means : (@) Faur= fqewr fasrea
(1) the moral alternative to war (i) ToHIE FETER
(1) the virtue of the strong T e
(z:ii) the S(Tul.-force (i) T T
(fv) non-killing of humans
Of these statements : e fur we
(A) (@), (1) and (zit) are correct (A) (@), () snfor (i) =R Aed
(B) (i), (i) and (iv) are correct (B) (@), (@) 0fo (jv) R 3Med
(C) () and (iv) are correct (C) () 3Mfr (jv) =R 3ed
(D) (ii), (iii) and (iv) are correct D) @@D), (Gif) 0 (jv) SRS A&
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93.

94.

95.

96.

According to Phule which of the
following is true ?

(A)
(B)

Dharma is essentially personal

Dharma consists in faithful
adherence to rituals prescribed

(C) Dharma is nothing but

continuing traditions faithfully
(D) Dharma is essentially public
Which of the following is not true
regarding Husserl’s idea of
philosophy as rigorous science ?
(A) Philosophy to be rigorous

science should do away with

presuppositions

Philosophy should be self-
responsible and self-warranting

(B)

(C) Philosophy should do away with

all forms of naturalism

(D) Philosophy should copy the

methods of exact sciences

Who among the following is
popularly known to make the
distsinction between ‘freedom from’
and ‘freedom to’ ?

(A) Isaiah Berlin
(B) John Rawls
(C) Dworkin

(D) Robert Nozick

Who among the following political
thinkers believes that State of
Nature is a State without morality ?

(A) John Locke
(B) Hobbes

(C) Rousseau
(D) John Rawls

93.

94.

95.

96.
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Tl A, TTerden! ShIvdl T O
e ?

(A) ¥4 7 WEUd: AR 3T

(B) fafea faet sigemgees sivam g+ oTg

(C) 9H U WIUH SHgesh e
FA TR

(D) 9" B TWEId: eS8

TolT TSl TehehoR ST AT gHE=

Aaraed Jeiciuch! hid A ATEl ?

(A) ThhoR IS BRI
TEIqehal N Shell difgst

(B) dccadd § TI-3calgrdl 99
T-grefe e g

(C) AT HITATEN TR
Jehfdarcrel M hell Ulfgsl

(D) TaH o= T ST
el Tifest

‘OrgA g 9 ‘geien fem @ 9

@Akl IO el ?

(A) 31 afem

(B) 91 Uew

(C) eaiffeha

(D) e Hiferen

Tra= =g ® ifafarfed T=a 194, o™

EeATAdeh! hIve TSTha foamean

qHd ?

(A) S9 ik

(B) ®feH

(C) &I

(D) S TeH
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97.

98.

99.

100.

Who among the following defines
State of Nature as a State where
men are naturally and exclusively
self-interested and there are limited
resources ?

(A) John Locke
(B) Hobbes

(C) Rousseau
(D) Plato

According to which of the following
thinkers an adequate theory of
justice should account for principle
of justice in acquisition, transfer and
rectification ?

(A) Isaiah Berlin
(B) Macintyre
(C) Robert Nozick
(D) John Rawls

Theory of Justice of who among the
following thinkers primarily focuses
on Equality of Resources ?

(A) John Rawls

(B) Charles Taylor
(C) Dworkin

(D) Bernard Williams

Who among the following argues
that capabilities as freedom mainly
refers to the presence of valuable
options or alternatives effectively
available to the agent ?

(A) Amartya Sen

(B) John Rawls

(C) Isaiah Berlin

(D) Dworkin

97.

98.

99.

100.
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WA Ueh! T Aa e ey 3@
3T &1 Al Ao et enfor gofa:
SATCHT 3Tl SO Fidr=l T& 3¢9
IEd ?

(A) SH ik

(B) @8

(C) &4

(D) =

TICAeUeh! SV A =A==l 93w
YT & TG, SEaaLor 3T gk
AT A ORI ?

(A) e aferd

(B) HichTerRR

(C) Uad ifeeh

(D) S U™

THF AT G JTaR v fo=amaas
== Ul Heuld @iel foer o ?
(A) S UcH

(B) =med 2eR

(C) <=ifehd

(D) sAE faeamq

EeATeTdeh! ShIUT=AT Ad a3 U
feadt gafar=n oI9St SuTsydr
3 ?

(A) e A

(B) w7 Ued

(C) st afem
(D) <aiffeRd
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ROUGH WORK
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